
YSI 6026 turbidity sensor (YSI6026) measurements,

in formazin nephelometric units
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YSI 6026 turbidity sensor (YSI6026) measurements,

in formazin nephelometric units
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YSI 6136 turbidity sensor (YSI6136) measurements,

in formazin nephelometric units
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YSIEXO = 0.8094(YSI6136)

Coefficient of determination = 0.98

Number of observations =  17,057
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YSI 6136 turbidity sensor (YSI6136) measurements,

in formazin nephelometric units
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YSI 6136 turbidity sensor (YSI6136) measurements,

in formazin nephelometric units
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YSIEXO = 0.81(YSI6136)

Coefficient of determination = 0.98

Number of observations =  17,057
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YSI6136 = 0.57(YSI6026)

Coefficient of determination = 0.97

Number of observations =  8,555
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YSIEXO = 0.79(YSI6136)

Coefficient of determination = 0.99

Number of observations =  18,264

B
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YSI6136 = 0.60(YSI6026)

Coefficient of determination = 0.96

Number of observations =  10,964
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YSIEXO = 0.83(YSI6136)

Coefficient of determination = 0.98

Number of observations =  21,863
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